# On the Rate of Convergence of Modified Baskakov Type Operators on Functions of Bounded Variation 

Dedicated to Professor Alexandru Lupas, University of Sibiu, Romania

Naokant Deo<br>Department of Applied Mathematics, Delhi College of Engineering, Bawana Road, Delhi - 110042, India<br>e-mail: dr_naokant_deo@yahoo.com

Abstract. The aim of this paper is to establish the rate of convergence of BaskakovDurrmeyer operators for bounded variation function. We have given the better estimate over the results due to Guo ([4]), Anial and Teberska ([1]) and Gupta and Srivastava ([8]).

## 1. Introduction

We first recall the construction of Baskakov-Durrmeyer operators. The Baskakov-Durrmeyer operators $L_{n}$ is the linear positive operator defined on $[0, \infty)$ by

$$
L_{n}(f, x)=(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) \int_{0}^{\infty} p_{n, k}(t) f(t) d t, \quad x \in[0, \infty)
$$

where

$$
p_{n, k}(x)=\binom{n+k-1}{k} \frac{x^{k}}{(1+x)^{n+k}},
$$

see e.g. ([9]). In [3] Bojnic estimated the rate of convergence of Fourier series of functions of bounded variation. Aniol and Taberska ([1]) and Guo ([4]) obtained analogous results for Durrmeyer type operators. A lot of work has been done in this direction by Vijay Gupta and collaborators (see e.g. [5], [6], [7], [8]). We remark here that the rate of convergence for the modified Baskakov operators was obtained by Gupta and Srivastava ([8]), but there is some misprint in the estimate of $R_{33}$ in their main result, also very recently Bastien and Ragalski ([2]) gave the optimum bound for Baskakov basis function. This along with the improvement in the result of Gupta and Srivastava ([8]) motivated us to study further on such type of operator. In the present paper, we study the rate of convergence of Baskakov-Durrmeyer

Received May 10, 2004, and, in revised form, June 30, 2004.
2000 Mathematics Subject Classification: 41A25, 41A35.
Key words and phrases: Baskakov type operator, rate of convergence.
operators for function of bounded variation.

## 2. Auxiliary results

We need some auxiliary results for proving the main theorem.

Lemma 2.1 ([2]). For all $x \in(0, \infty)$ and $n, k \in \boldsymbol{N}$ there holds

$$
p_{n, k}(x) \leq \frac{C}{\sqrt{n x(1+x)}}
$$

where

$$
C= \begin{cases}1, & \text { if } n=1 \\ \frac{2 \sqrt{2}}{3 \sqrt{3}}, & \text { if } n \geq 2, k=0 \\ \left(\frac{3}{2}\right)^{3 / 2} \frac{n^{3 / 2}(n-1)^{n-1}}{\left(n+\frac{1}{2}\right)^{n+1 / 2}}, & \text { if } n \geq 2, k \geq 1\end{cases}
$$

Lemma 2.2 ([9]). Let the $m^{\text {th }}$ order moment for the operator $L_{n}(f, x)$ be defined by

$$
T_{n, m}(x)=(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) \int_{0}^{\infty}(t-x)^{m} p_{n, k}(t) d t
$$

then

$$
\begin{aligned}
T_{n, 1}(x) & =\frac{1+2 x}{n-2}, \quad n>2 \\
T_{n, 2}(x) & =\frac{2(n-1) x(1+x)+2(1+2 x)^{2}}{(n-2)(n-3)}, \quad n>3
\end{aligned}
$$

If particular, given any $\lambda>2$ and any $x>0$ there is an integer $\boldsymbol{N}(\lambda, x)>2$ such that

$$
T_{n, m}(x) \leq \frac{\lambda x(1+x)}{n} \text { for all } n \geq \boldsymbol{N}(\lambda, x)
$$

Next let

$$
K_{n}(x, t)=(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) p_{n, t}(t), \lambda>2 \text { and } n>N(\lambda, x)
$$

then
(i) For $0 \leq y<x$, we get

$$
\begin{equation*}
\int_{0}^{y} K_{n}(x, t) d t \leq \frac{\lambda x(1+x)}{n(x-y)^{2}} \tag{2.1}
\end{equation*}
$$

(ii) For $x<z<\infty$, we get

$$
\begin{equation*}
\int_{z}^{\infty} K_{n}(x, t) d t \leq \frac{\lambda x(1+x)}{n(z-x)^{2}} \tag{2.2}
\end{equation*}
$$

The proof of (2.1) and (2.2) are simple and are left for the readers.
Lemma 2.3. For every $k \in \boldsymbol{N}, x \in(0, \infty)$, we have

$$
\left|\sum_{j=0}^{k} p_{n, j}(x)-\sum_{j=0}^{k} p_{n-1, j}(x)\right| \leq \frac{C}{2 \sqrt{n x(1+x)}}
$$

The proof of the above lemma is simple just we have to apply Lemma 2.1.

## 3. Main results

In this section, we shall give our main results.
Theorem 3.1. Let $f$ be a function of bounded variation an every finite subinterval of $[0, \infty)$ and let

$$
g_{x}(t)= \begin{cases}f(t)-f(x+), & \text { if } x<t<\infty \\ 0, & \text { if } t=x \\ f(t)-f(x-), & \text { if } 0 \leq t<x\end{cases}
$$

$V_{a}^{b}\left(g_{x}\right)$ be the total variation of $g_{x}$ on $[a, b]$. If $|f(t)|<M(1+t)^{\alpha}$ for $t \in[0, \infty)$, where $M>0, \alpha \in N_{0}$ and choose a number $\lambda>2$. Then for $n>\max \{1+$ $\alpha, \boldsymbol{N}(\lambda, x)\}$, we get

$$
\begin{align*}
& \left|L_{n}(f, x)-\frac{1}{2}\{f(x+)+f(x-)\}\right|  \tag{3.1}\\
\leq & |\{f(x+)-f(x-)\}| \frac{C}{\sqrt{n x(1+x)}}+\frac{3 \lambda+(3 \lambda+1) x}{n x} \sum_{k=1}^{n} V_{x-x / \sqrt{k}}^{x+x / \sqrt{k}}\left(g_{x}\right) \\
& +\frac{\lambda M K_{\alpha}(1+x)^{\alpha+1}}{n x}
\end{align*}
$$

where $C$ is a constant defined in Lemma 2.1.
Proof. First, we have

$$
\begin{align*}
& \left|L_{n}(f, x)-\frac{1}{2}\{f(x+)+f(x-)\}\right|  \tag{3.2}\\
\leq & \left|L_{n}\left(g_{x}, x\right)\right|+\frac{1}{2}|\{f(x+)-f(x-)\}|\left|L_{n}(\operatorname{sign}(t-x), x)\right|
\end{align*}
$$

Thus to estimate (3.1), we need the estimates for $L_{n}\left(g_{x}, x\right)$ and $L_{n}(\operatorname{sign}(t-x), x)$. Now using Lemma 2.1, Lemma 2.3 and using the similar methods as given in [8],
we have

$$
\begin{equation*}
\left|L_{n}(\operatorname{sign}(t-x), x)\right| \leq \frac{2 C}{\sqrt{n x(1+x)}} . \tag{3.3}
\end{equation*}
$$

Now to estimate $L_{n}\left(g_{x}, x\right)$,

$$
\begin{aligned}
L_{n}\left(g_{x}, x\right) & =\int_{0}^{\infty} K_{n}(x, t) g_{x}(t) d t \\
& =\left(\int_{I_{1}}+\int_{I_{2}}+\int_{I_{3}}\right) K_{n}(x, t) g_{x}(t) d t \\
& =R_{1}+R_{2}+R_{3}, \text { say. }
\end{aligned}
$$

Where $I_{1}=[0, x-x / \sqrt{n}], \quad I_{2}=[x-x / \sqrt{n}, x+x / \sqrt{n}]$ and $I_{3}=[x+x / \sqrt{n}, \infty)$.
Suppose $\lambda_{n}(x, t)=\int_{0}^{t} K_{n}(x, u) d u$. First, we estimate $R_{1}$. Writing $y=x-x / \sqrt{n}$ and using partial integration, we get

$$
\begin{aligned}
R_{1} & =\int_{0}^{y} g_{x}(t) K_{n}(x, t) d t \\
& =\int_{0}^{y} g_{x}(t) d_{t}\left(\lambda_{n}(x, t)\right) \\
& =g_{x}(y+) \lambda_{n}(x, y)-\int_{0}^{y} \lambda_{n}(x, t) d_{t}\left(g_{x}(t)\right) .
\end{aligned}
$$

Since

$$
\left|g_{x}(y+)\right|=\left|g_{x}(y+)-g_{x}(x)\right| \leq V_{y_{+}}^{x}\left(g_{x}\right),
$$

then by (2.1), we get

$$
\begin{aligned}
\left|R_{1}\right| & \leq V_{y+}^{x}\left(g_{x}\right) \lambda_{n}(x, y)+\int_{0}^{y} \lambda_{n}(x, t) d_{t}\left(-V_{t}^{x}\left(g_{x}\right)\right) \\
& \leq V_{y+}^{x}\left(g_{x}\right) \frac{\lambda x(1+x)}{n(x-y)^{2}}+\frac{\lambda x(1+x)}{n} \int_{0}^{y} \frac{1}{(x-t)^{2}} d_{t}\left(-V_{t}^{x}\left(g_{x}\right)\right) .
\end{aligned}
$$

Integrating by parts, we have

$$
\int_{0}^{y} \frac{1}{(x-t)^{2}} d_{t}\left(-V_{t}^{x}\left(g_{x}\right)\right)=\frac{-V_{y+}^{x}\left(g_{x}\right)}{(x-y)^{2}}+\frac{V_{0}^{x}\left(g_{x}\right)}{x^{2}}+2 \int_{0}^{y} \frac{\left(\widehat{V}_{t}^{x}\left(g_{x}\right)\right)}{(x-t)^{3}} d t
$$

where $\widehat{V}_{t}^{x}\left(g_{x}\right)$ is the normalized from of $V_{t}^{x}\left(g_{x}\right)$ and $\widehat{V}_{t}^{x}\left(g_{x}\right)=V_{t}^{x}\left(g_{x}\right)$. Consequently, we get

$$
\begin{aligned}
& \left|R_{1}\right| \\
\leq & V_{y+}^{x}\left(g_{x}\right) \frac{\lambda x(1+x)}{n(x-y)^{2}}+\frac{\lambda x(1+x)}{n}\left[\frac{-V_{y+}^{x}\left(g_{x}\right)}{(x-y)^{2}}+\frac{V_{0}^{x}\left(g_{x}\right)}{x^{2}}+2 \int_{0}^{y} \frac{\left(V_{t}^{x}\left(g_{x}\right)\right)}{(x-t)^{3}} d t\right] \\
= & \frac{\lambda x(1+x)}{n}\left[\frac{V_{0}^{x}\left(g_{x}\right)}{x^{2}}+2 \int_{0}^{y} \frac{\left(V_{t}^{x}\left(g_{x}\right)\right)}{(x-t)^{3}} d t\right] .
\end{aligned}
$$

Replacing the variable $y$ in the last integral by $x-x / \sqrt{n}$, we get

$$
\int_{0}^{x-x / \sqrt{n}} \frac{V_{t}^{x}\left(g_{x}\right)}{(x-t)^{3}} d t=\frac{1}{2 x^{2}} \int_{1}^{n} V_{x-x / \sqrt{n}}^{x}\left(g_{x}\right) d t \leq \frac{1}{2 x^{2}} \sum_{k=1}^{n} V_{x-x / \sqrt{n}}^{x}\left(g_{x}\right)
$$

Hence

$$
\begin{equation*}
\left|R_{1}\right| \leq \frac{2 \lambda(1+x)}{n x} \sum_{k=1}^{n} V_{x-x / \sqrt{n}}^{x}\left(g_{x}\right) \tag{3.4}
\end{equation*}
$$

Since $\int_{a}^{b} d_{t} \lambda_{n}(x, t) \leq 1$, for $(a, b) \subset[0, \infty)$, therefore

$$
\begin{equation*}
\left|R_{2}\right| \leq \frac{1}{n} \sum_{k=0}^{n} V_{x-x / \sqrt{n}}^{x+x / \sqrt{n}}\left(g_{x}\right) \tag{3.5}
\end{equation*}
$$

Finally, we estimate $R_{3}$, writing $z=x-x / \sqrt{n}$, we have

$$
R_{3}=\int_{x}^{\infty} g_{x}(t) K_{n}(x, t) d t=\int_{z}^{\infty} g_{x}(t) d_{t}\left(\lambda_{n}(x, t)\right)
$$

We define $Q_{n}(x, t)$ on $[0,2 x]$ as

$$
Q_{n}(x, t)= \begin{cases}1-\lambda_{n}(x, t), & \text { if } 0 \leq t \leq 2 x \\ 0, & \text { if } t=2 x\end{cases}
$$

Therefore

$$
\begin{align*}
R_{3}= & -\int_{2}^{2 x} g_{x}(t) d_{t}\left(Q_{n}(x, t)\right)  \tag{3.6}\\
& -g_{x}(2 x) \int_{2 x}^{\infty} K_{n}(x, t) d t+\int_{2 x}^{\infty} g_{x}(t) d_{t}\left(\lambda_{n}(x, t)\right) \\
= & R_{31}+R_{32}+R_{33}, \quad \text { say. }
\end{align*}
$$

Using (2.2) and integrating partially the first term, we get

$$
\begin{aligned}
\left|R_{31}\right| \leq & V_{x}^{z-}\left(g_{x}\right) \frac{\lambda x(1+x)}{n(z-x)^{2}}+\frac{\lambda x(1+x)}{n} \int_{z}^{2 x-} \frac{1}{(x-t)^{2}} d_{t}\left(V_{x}^{t}\left(g_{x}\right)\right) \\
& +\frac{1}{2} V_{x}^{2 x-}\left(g_{x}\right) \int_{2 x}^{\infty} K_{n}(x, u) d u \\
\leq & V_{x}^{z-}\left(g_{x}\right) \frac{\lambda x(1+x)}{n(z-x)^{2}}+\frac{\lambda x(1+x)}{n} \int_{z}^{2 x-} \frac{1}{(x-t)^{2}} d_{t}\left(V_{x}^{t}\left(g_{x}\right)\right) \\
& +\frac{1}{2} V_{x}^{2 x-}\left(g_{x}\right) \frac{\lambda x(1+x)}{n x^{2}} \\
\leq & V_{x}^{z-}\left(g_{x}\right) \frac{\lambda x(1+x)}{n(z-x)^{2}}+\frac{\lambda x(1+x)}{n} \\
& {\left[\frac{V_{x}^{2 x}\left(g_{x}\right)}{x^{2}}-\frac{V_{x}^{z-}\left(g_{x}\right)}{(z-x)^{2}}+2 \int_{z}^{2 x} \frac{V_{x}^{t}\left(g_{x}\right)}{(x-t)^{3}} d t\right] . }
\end{aligned}
$$

Thus, by replacing the variable in the last integral by $x+x / \sqrt{n}$, we get

$$
\begin{align*}
\left|R_{31}\right| & \leq \frac{\lambda x(1+x)}{n x^{2}}\left[V_{x}^{2 x}\left(g_{x}\right)+\sum_{k=1}^{n} V_{x}^{x+x / \sqrt{ } k}\left(g_{x}\right)\right]  \tag{3.7}\\
& \leq \frac{2 \lambda(1+x)}{n x} \sum_{k=1}^{n} V_{x}^{x+x / \sqrt{k}}\left(g_{x}\right) .
\end{align*}
$$

From (2.1), we get

$$
\begin{equation*}
\left|R_{32}\right| \leq g_{x}(2 x) \frac{\lambda x(1+x)}{n x^{2}}+\frac{\lambda x(1+x)}{n x} \sum_{k=1}^{n} V_{x}^{x+x / \sqrt{k}}\left(g_{x}\right) \tag{3.8}
\end{equation*}
$$

Finally for $n>\alpha$, we obtain

$$
\left|R_{33}\right| \leq M(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) \int_{2 x}^{\infty}\left[(1+t)^{\alpha}+(1+x)^{\alpha}\right] p_{n, k}(t) d t
$$

(i) If $\alpha=0$, then applying (2.1), we obtain

$$
\begin{aligned}
\left|R_{33}\right| & \leq 2 M(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) \int_{2 x}^{\infty} p_{n, k}(t) d t \\
& \leq \frac{2 \lambda M(1+x)}{n x}, \text { for } n>\boldsymbol{N}(\lambda, x)
\end{aligned}
$$

(ii) If $\alpha=1$, then by (2.1) and Lemma 2.2 , for $n>\mathbf{N}(\lambda, x)$, we get

$$
\begin{aligned}
\left|R_{33}\right| & \leq M(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) \int_{2 x}^{\infty}(2+2 x+t-x) p_{n, k}(t) d t \\
& \leq \frac{\lambda M(1+x)(2+3 x)}{n x} \\
& \leq \frac{3 \lambda M(1+x)^{2}}{n x}
\end{aligned}
$$

(iii) If $\alpha=2$, then for $n>\alpha$

$$
\begin{aligned}
& \left|R_{33}\right| \leq M(n-1)\left(1+2^{\alpha-1}\right)(1+x)^{\alpha} \sum_{k=0}^{\infty} p_{n, k}(x) \int_{2 x}^{\infty} p_{n, k}(t) d t \\
& \\
& \quad+M 2^{\alpha-1}(n-1) \sum_{k=0}^{\infty} p_{n, k}(x) \int_{2 x}^{\infty} p_{n, k}(t)(t-x)^{\alpha} d t
\end{aligned}
$$

Consequently in case $\alpha=2$

$$
\begin{aligned}
\left|R_{33}\right| & \leq \frac{3 \lambda M(1+x)^{3}}{n x}+\frac{2 \lambda M x(1+x)}{n} \\
& \leq \frac{5 \lambda M(1+x)}{n x}, \text { for } n \geq N(\lambda, x)
\end{aligned}
$$

In general case, if $\alpha$ is even or odd then by Lemma 2.2 , we may easily verify that there exist a constant $K_{\alpha}$ depending only on $\alpha$, such that

$$
\begin{equation*}
\left|R_{33}\right| \leq \frac{\lambda M K_{\alpha}(1+x)^{\alpha+1}}{n x}, \text { for all } n \geq \max \{(1+\alpha), \boldsymbol{N}(\lambda, x)\} \tag{3.9}
\end{equation*}
$$

Collecting the estimates of (3.2) to (3.9), we get the required result.
Acknowledgement. The author is grateful to the referee for many suggestions that greatly improved this paper.

## References

[1] G. Aniol and P. Pych Taberska, On the rate of pointwise convergence of the Durrmeyer type operators, Approx. Theory and its appl., 11(2)(1995), 94-105.
[2] G. Bastien and M. Rogalski, Convexite, Complete monotonic integralites sur les functions zeta et gamma, sur les functions des operateurs de Baskakov et sur des functions arthematiques, Canadian J. Math., 54(5)(2002), 916-944.
[3] R. Bojanic, An estimate of the rate of convergence for Fourier series of function of bounded variation, Publ. Inst. Math. (Belgrade), 26(40)(1979), 57-60.
[4] S. Guo, On the rate of convergence of Durrmeyer operator for function of bounded variation, J. Approx. Theory, 51(1987), 183-192.
[5] V. Gupta and M. Gaur, Rate of convergence of modified Baskakov type operators for functions of bounded variation, J. Punjab Univ. Math., XXX(1997), 93-108.
[6] V. Gupta and D. Kumar, Rate of convergence of modified Baskakov operators, Demonstratio Math., XXX(2)(1997), 339-346.
[7] V. Gupta and R. P. Pant, Rate of convergence for the modified Szasz-Mirakyan operators on function of bounded variation, J. Math. Anal. Appl., 233(1999), 476-483.
[8] V. Gupta and G. S. Srivastava, An estimate of the rate of convergence of modified Baskakov type operators for functions of bounded variation, Kyungpook Math. J., 36(1996), 237-247.
[9] R. P. Sinha, P. N. Agrawal and V. Gupta, On Simultaneous approximation by modified Baskakov operators, Bull. Soc. Math. Belg. Ser. B, 42(2)(1991), 217-231.

